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FISICOQUIMICA	
  UNQ	
  –	
  Comisión	
  C	
  

Seminario	
  0	
  –	
  Conocimientos	
  previos	
  necesarios	
  

Química	
  

a. Enuncie	
  la	
  ley	
  de	
  Coulomb.	
  	
  	
  
b. ¿Qué	
  es	
  una	
  molécula	
  polar?	
  ¿Qué	
  características	
  debe	
  presentar?	
  	
  
c. ¿En	
   qué	
   tipo	
   de	
   propiedades	
   de	
   una	
   sustancia	
   se	
   reflejan	
   las	
   interacciones	
  

intermoleculares?	
  	
  
d. El	
   siguiente	
   gráfico	
   representa	
   de	
  manera	
   esquemática	
  

cómo	
   varía	
   el	
   potencial	
   de	
   interacción	
   entre	
   dos	
  
moléculas.	
   Identifique	
   en	
   dicho	
   gráfico	
   la	
   región	
   en	
   la	
  
que	
   predominan	
   las	
   fuerzas	
   atractivas,	
   la	
   región	
   en	
   la	
  
que	
  predominan	
  las	
  fuerzas	
  repulsivas	
  y	
  el	
  radio	
  de	
  van	
  
der	
  Waals.	
  	
  

	
  
e. ¿Por	
   qué	
   el	
   hielo	
   es	
  menos	
   denso	
   que	
   el	
   agua	
   líquida?	
   ¿Es	
   ésta	
   una	
   regla	
   general	
   para	
  

cualquier	
  sustancia?	
  
f. ¿En	
  cuáles	
  de	
  los	
  siguientes	
  procesos	
  es	
  necesario	
  romper	
  enlaces	
  covalentes	
  y	
  en	
  cuáles	
  

simplemente	
  se	
  vencen	
  fuerzas	
  intermoleculares?	
  	
  
I. Hervir	
  agua.	
  	
  
II. Descomposición	
  del	
  N2O4	
  en	
  NO2.	
  	
  
III. Sublimación	
  de	
  hielo	
  seco.	
  	
  
IV. Fusión	
  de	
  un	
  trozo	
  de	
  hielo.	
  	
  
V. Disociación	
  de	
  F2	
  en	
  átomos	
  de	
  F.	
  

g. ¿En	
   qué	
   se	
   diferencian	
   una	
   transformación	
   física	
   de	
   una	
   transformación	
   química?	
  
Mencione	
  ejemplos.	
  

h. Se	
  tienen	
  0,5	
  moles	
  de	
  dióxido	
  de	
  carbono	
  (CO2).	
  Calcular:	
  
I. La	
  masa	
  en	
  gramos	
  de	
  esos	
  0.5	
  moles.	
  
II. El	
  número	
  de	
  moléculas	
  presentes.	
  
III. El	
  número	
  de	
  átomos	
  de	
  carbono	
  que	
  hay	
  en	
  esa	
  masa	
  de	
  óxido.	
  

i. ¿Cuántos	
  átomos	
  de	
  carbono	
  hay	
  en	
  un	
  mol	
  de	
  glucosa	
  (fórmula	
  molecular:	
  C6H12O6)?	
  ¿Y	
  
en	
  360	
  gramos?	
  

j. Calcule	
  la	
  masa	
  molar	
  de	
  un	
  compuesto	
  si	
  0,372	
  moles	
  de	
  éste	
  tienen	
  una	
  masa	
  de	
  152	
  g.	
  
k. Una	
  muestra	
  de	
  un	
  compuesto	
  contiene	
  0,40	
  g	
  de	
  hidrógeno	
  y	
  6,40	
  g	
  de	
  oxígeno.	
  ¿Cuál	
  es	
  

su	
  fórmula	
  empírica?	
  
l. Determine	
   la	
   fórmula	
   molecular	
   de	
   los	
   compuestos	
   para	
   los	
   cuales	
   corresponden	
   las	
  

siguientes	
  fórmulas	
  empíricas	
  y	
  pesos	
  (masas)	
  moleculares:	
  
P2O5	
   PM:	
  283,88	
  
CO2H	
   PM:	
  90	
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m. Enuncie,	
   explique	
   y	
   grafique	
   las	
   leyes	
   que	
   describen	
   el	
   comportamiento	
   de	
   los	
   gases	
  
ideales	
  en	
  las	
  siguientes	
  transformaciones	
  a	
  n	
  constante:	
  	
  

I. variaciones	
  de	
  P	
  y	
  V	
  a	
  T	
  constante.	
  	
  
II. variaciones	
  de	
  T	
  y	
  V	
  a	
  P	
  constante.	
  	
  
III. variaciones	
  de	
  P	
  y	
  T	
  a	
  V	
  constante.	
  	
  	
  	
  

n. Calcule	
  el	
  peso	
  molecular	
  de	
  un	
  gas	
  si	
  0,608	
  g	
  ocupan	
  un	
  volumen	
  de	
  750	
  mL	
  a	
  385	
  mm	
  de	
  
Hg	
  y	
  35	
  °C	
  (asumir	
  comportamiento	
  ideal).	
  

o. ¿Las	
   interacciones	
   no	
   covalentes	
   de	
   atracción	
   aumentan	
   o	
   disminuyen	
   cuando	
   un	
   gas	
  
contenido	
  en	
  un	
  recipiente	
  experimenta	
  los	
  siguientes	
  cambios?	
  	
  

I. Se	
   disminuye	
   la	
   temperatura	
   manteniendo	
   el	
   volumen	
   y	
   la	
   cantidad	
   de	
   gas	
  
constantes.	
  	
  

II. Se	
  inyecta	
  más	
  gas	
  al	
  recipiente	
  a	
  temperatura	
  y	
  volumen	
  constantes.	
  	
  
III. Se	
  expande	
  manteniendo	
  la	
  temperatura	
  y	
  la	
  cantidad	
  de	
  gas	
  constantes.	
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Matemática	
  

a. La	
  temperatura	
  T,	
  en	
  grados	
  centígrados,	
  que	
  adquiere	
  una	
  pieza	
  sometida	
  a	
  un	
  proceso	
  
viene	
  dada	
  en	
  función	
  del	
  tiempo	
  t,	
  en	
  horas,	
  por	
  la	
  expresión:	
  

T	
  (t)	
  =	
  40t	
  -­‐	
  10t2	
  	
  con	
  0	
  ≤	
  t	
  ≤	
  4	
  
I. Represente	
  gráficamente	
  la	
  función	
  T	
  y	
  determine	
  la	
  temperatura	
  máxima	
  que	
  

alcanza	
  la	
  pieza.	
  
II. ¿Qué	
  temperatura	
  tendrá	
  la	
  pieza	
  transcurrida	
  1	
  hora?	
  ¿Volverá	
  a	
  tener	
  esa	
  misma	
  

temperatura	
  en	
  algún	
  otro	
  instante?	
  
b. Halle	
  los	
  valores	
  de	
  a	
  y	
  b	
  para	
  que	
  la	
  función	
  	
  f	
  (x)	
  =	
  x3+	
  ax2	
  +	
  b	
  tenga	
  un	
  extremo	
  relativo	
  

en	
  el	
  punto	
  (-­‐2,3).	
  Halle	
  la	
  ecuación	
  de	
  la	
  recta	
  tangente	
  a	
  la	
  curva	
  	
  y	
  =	
  x3	
  -­‐	
  4x	
  +	
  2	
  en	
  su	
  
punto	
  de	
  inflexión.	
  

c. Determinar	
  las	
  condiciones	
  más	
  económicas	
  de	
  una	
  piscina	
  abierta	
  al	
  aire,	
  de	
  volumen	
  
32m3	
  con	
  un	
  fondo	
  cuadrado,	
  de	
  manera	
  que	
  la	
  superficie	
  de	
  sus	
  paredes	
  y	
  del	
  suelo	
  
necesite	
  la	
  cantidad	
  mínima	
  de	
  material.	
  

d. 	
  Contestar,	
  razonando	
  la	
  respuesta,	
  si	
  son	
  verdaderas	
  o	
  falsas	
  las	
  siguientes	
  afirmaciones:	
  

  
 
 

e. La	
  concentración	
  de	
  ozono	
  contaminante,	
  en	
  microgramos	
  por	
  metro	
  cúbico,	
  en	
  una	
  
ciudad	
  viene	
  dada	
  por	
  la	
  función	
   

C(x)	
  =	
  90	
  +	
  15x	
  -­‐	
  0,6x2	
  
donde	
  x	
  es	
  el	
  tiempo	
  transcurrido	
  desde	
  1	
  de	
  enero	
  de	
  1990	
  contado	
  en	
  años.	
  

I. ¿Hasta	
  qué	
  año	
  estará	
  creciendo	
  la	
  concentración	
  de	
  ozono?	
  
II. ¿Cuál	
  es	
  la	
  concentración	
  máxima	
  de	
  ozono	
  que	
  se	
  alcanza	
  en	
  esa	
  ciudad?	
  

f. Sabemos	
  que	
  la	
  función	
  	
  f	
  (x)	
  =	
  ax2	
  +	
  bx	
  	
  tiene	
  un	
  máximo	
  en	
  el	
  punto	
  (3,8).	
  
I. Halle	
  los	
  valores	
  de	
  “a”	
  y	
  “b”.	
  
II. Para	
  dichos	
  valores,	
  calcule	
  la	
  ecuación	
  de	
  la	
  recta	
  tangente	
  a	
  f(x)	
  en	
  el	
  punto	
  de	
  

abcisa	
  0.	
  
g. Grafique	
  y	
  calcule	
  las	
  primitivas	
  de	
  las	
  siguientes	
  funciones	
  para	
  x>0.	
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h. Calcule	
  la	
  primitiva	
  de	
  	
  

! ! =
1

! − !
                                                ! ! =

1
(! − !)!

                                              ! ! =
1

! − ! (! − !)
	
  


